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0 OlLj w

3. mllPa~¶J~~~l

PO > P, > Pz > . . . > P, > P,+, > . . > P,.,  > Pw = 0

d, = C-G+, . . . (2.1)
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S = [A, B)

P(S) = P(A U B) = 1

A LLWZ  B dlS?16?h  mutully exclusive

P(S) = P(A)+ P(B) = 1

. p+q = 1.
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4 .  PlnaLerunlwGa  3
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t
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ex+n*,
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1,000\~100-20
l,OOO\  100~0

1 ,ooo\:  80
1 ,ooo\  100

= 0.8944

(2) na?~til~~a~sa~~uolq  30 TJ zmJfiauol~ma~ 50 YY

~ dl3,l

f,,, -ES,,_
P30

1,000v'100-30-  1,000~~00-50

1,000Ji00-30

= 0.154845
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Set of event

AUBUC

AnHnc

.4 n B n cl

(A n B n C)
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P ( B ’ )  = na1aJPi1a-aanai  “u mJn1eJ~u  1 0  ixh9H~l

=  l - P ( B )

= 0.2

hii.4

1.  wawdlo:~~uW”~~  n kat  “u xmfJm&in  IO %i$es&

=  P ( A  f-l  B )

= P(A).P(B)

= (0.7)(0.8)

= 0.56

2 .  na~a~tilar~~u~~~  n  bbaz  “u mmierlu  lo TJvh99~i

=  P(A’  fl B ’ )

= P(A’)P(B’)

= (0.3)(0.2)

= 0.06

3. nalaJ~79-baPaw"oeils~~~~~~~~~~~~~l~~l~~~  10 Thhn4il

=  P ( A ’  U  B ’ )

=  P ( A  n B ) ’

= l-P(AnB)

=  I - O . 5 6

= 0.44

4 .  na1utii9ta0~ai  n  CFFho(samZn  10  ?hh.w&  asd  “u murm1J%14  10  TJ

“u’7.wi&

=  P ( A  f-l  B ’ )

= P(A)P(B’)

= (0.7)(0.2)

= 0.14
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(A select  and ultimate mortality table)
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1x1

30

31

32

3 3

34

3 5

36

3 7

3 8

39

-t El,1

950,x75

940,22  1

947,447

945,589

943,623

‘941,488

‘939,211

‘336,729

‘334,023

93 1,088

949,734

948,044

946,215

944,303

942,255

940,048

937,661

935,071

932,248

929, I70

I’ ,\,+2

Y48.47 I

946,717

944,834

942,830

940,700

938,375

935,870

933,145

930, I78

926,903

h+7

947,039

945,212

943,237

941.142

938,875

936,423

933,774

930,887

927,704

924,215

t:+;

943,624

941,576

939,354

936,959

Y34,3’73

931,570

928,477

925,088

921,341

917,195

-7

/:

j-

L

i(+5

3 5

36

3 7

3 8

3 9

40

41

42

4 3

44
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946,717-943,501
946,7  17

= 0.003397
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e = c+,+ex*z+P,+,+...+Pw.,
x

C

42

, r=w-x-l
= T c px+rx r=l
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= ;(d,  + 3d,+,  + 5d,+z  + 7d,+,  + . ..)

= ~~P,+2(P,*,+P,,,+Y,.,+...+Y,.,)l

z ;P,  + 2e,.P,

e,“.P,  =. 2,  + 2e,.P,

x 8, 4

9 0 900 5 0

9 1 850 6 0

9 2 790 7 0

9 3 720 8 0

9 4 640 9 0

9 5 550 100

9 6 4 5 0 1 3 0

9 7 320 1 4 0
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180 150

30 30

0 0

720+640+550+450+320+180+30zz
790

= 3.6582

km”, e&  = ey2  + r
2

= 3.6582+0.5

= 4.1582

= ~,+p~.e,+~

= p,(l  +e,+,)

(2) ..’ e9l = PWU +e92)

= 21 +eg2)

= %(1+3.6582)

= 4.3293
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IX/

30

31

32

4111

1.199

qlYl+l

1.329

91x1*2

1.509

91x1+3

1.689

qlxla

1.919

q+5

2.170

x + 5

35

36

37

39 44
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